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Introduction

The curriculum in each of your subjects at WHS has been carefully planned to
help you learn new things, building upon what you know and preparing you for
learning in the future. This is mapped out as a learning journey which each
teacher will share with you so you understand how your learning fits together
as awhole. Each subject’s roadmap is here https://www.westhoughton-
high.org/subjects/.

This booklet contains knowledge organisers for all the topics you will study in each subject this term. These give an overview of the essential knowledge that you

MUST remember to be as successful as possible in Year 8 and as you move through each year of school. Your teachers will expect you to use them during lessons to

find out about what you are going to be learning in a new topic, to retrieve information during a connect activity - connecting your brain to what you are going to

learn that lesson and to test yourself or others to recall knowledge. You will also use them to complete home learning activities, to regularly revise from so that you

begin to remember more knowledge over time, to discuss what you have been learning with family and friends and to catch up on any learning you might have
missed due to absence. You must bring your booklet to school every day and keep it safe at the end of each term as you will continue to use it to support ongoing

revision.


https://www.westhoughton-high.org/subjects/
https://www.westhoughton-high.org/subjects/

Learning Techniques to use with KOs - using them regularly is vital to make knowledge stick in your long-term memory
(remember you need to revisit information at least 10 times before it is embedded in your memory).
Try using these ideas, choose different techniques to learn small sections of knowledge each day.

Look, Say, Cover,

w
STEP 3 STEP 2 STEP 1 .

Write, Check

Look at and read aloud
a specific area of your
KO.

Cover or flip the KO
over and write down
everything you
remember.

o —
o m—
o m—

Check what you have
written down. Correct
any mistakes and add
anything you missed in
purple pen.

Key Word Flash Cards Self Quizzing Paired Retrieval
Definitions

Write down the
key words and
definitions in
two columns.

Use your KO to condense
and write down key facts
or information onto flash
cards.

Repeat the Add pictures that might
above but don’t  help you remember. Then
look at your KO  self-quiz using the flash-

cards.

v=
U=

Ask a friend or family
member to quiz you on
your knowledge.

Use a purple pen
to check and
correct your
work

@Q QQ)

Use your KO to create
a mini quiz. Write
down your questions
relating to the
information.

Answer the
questions, remember
to use full sentences.

Ask a friend or family
member to quiz you
using the questions.

@Q 8®

Create a mind map
with the
information on
your KO.

Check your KO to
make sure there
are no mistakes on
your mind map.

Try to make more
connections, link
the information
together where
you can.

Ask a partner,
friend or family to
use the KO or your
flash cards.

?

Make sure they
test you on
different sections
of the KO and also
on previous topics.

3#-

Repeat this
regularly so that
you are frequently
looking at KOs
past and present.



How to make learning stick...

Mind Mapping

Flash Cards

Look, Say, Cover,
Write, Check

Key Word
Mnemonics

Revision Clocks

Mind mapping is a great way of
representing key information
from a topicin avisual way. Use
colour and images to represent

the knowledge you need to learn.

Keep writing to a minimum; use
only keywords/phrases.

Watch the clip for more tips and
advice.

Make flash cards
using your KO. Write
a question on one
side and the answer
on the other or
record key- words
and definitions. Test
yourself frequently.
For more advice
scan the code.

This technique is one
that has been well
used from primary
school upwards. Itis
useful for rehearsing
keywords, definitions
and spellings. Look at
the information, read
it aloud, coverit up,
write it down and
then check itis
correct.

A mnemonicisa
sentence you make up
where each word
begins with the same
letter as the word you
want to remember. It
is a useful technique
for remembering a
group of facts/words
in a certain order.

Draw a basic clock and break
your KO down into 12
chunks. Make notes on each
chunkin the 12 clock
sections, use colour and
images to make it
memorable. Revise each
section for 5 minutes, turn
over and test how much you
can recall.

Watch the clip for more tips
and advice.
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Y8 - Knowledge Organiser - Empire and Slavery - What was the experience of slavery for Africans?

What do | need to know?

v What was life like in Africa before the arrival of Europeans?

» What did enslaved people experience when they were capiured?

» What did enslaved people experience when they arived in the Americass
v Why was the slavery abolished?

What was life like in Africa before the arrival of Europeans?

Why was the Slave trade Abolished?

+ Africais a diverse contfinent, with a range of rich cultures and backgrounds.

+ Many Europeans had incorrect stereotypes of Africans, and believed they were uncultured and 'heathens’.
+ There were many Kingdoms, City-states and cother political arrangements in Africa.

* Many African countries were massively rich, for example the kingdom of Benin.

What did enslaved people experience when they were captured?

« White slave capfures from Europe would come to West Africa to capture enslaved people.

+ They would sometimes employ or threaten with capture other African people to help enslave Africans.

+ When caplured, enslaved Africans would be physically abused, often whipped and beaten, put in manacles and taken
to the coast to board a ship.

+ They would be stowed on ships - either fight packed or loose packed - and transported across the middle passage. This
journey could take 6 months, and many enslaved pecple would gef sick or try fo starve themselves. Around 10 -15% of
enslaved people died on the middle passage. During their time on the middle passage, they would remined chained
together, only going on deck to be cleaned with salt water or made to dance for exercise. They would be whipped and
beaten if they fried to resist. They would be given food in the form of rice and beans that was boiled and mushed
together.

What did enslaved people experience when they arrived in the Americas?

« After they had arived, they would be cleaned, and wounds sealed or hidden with tar. Then many enslaved peopls
they could camy out more manual labour. Women would be brought to do domestic work within the plantation house.

+ Many enslaved people would then go to work on a plantation where they would have to do manual labour for many
hours a day. During this fime, they would be severally mistreated through verbal and physical abuse. The overseers
would keep watch on the enslaved people, and they would usually work from sunrise to sunset, with very few brakes.

+  Many enslaved pecple resisted their enslavement through active and passive means. They would kill livestock and try
to escape, or they would work slowly. Famously in Haiti from 1791 — 1804 there was a slave reveolution led by Toussaint
L'Ouverture.
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Some slave owners redlised that they would
not have the costs of housing and feeding their
slaves if they were free. Instead, they could just
pay them a low wage for their

work. Plantaticn owners could save money if
slavery was abolished.

Due to religious reasons politicians in the UK,
such as William Wilberforce, spent 20 years
trying abaolish slavery and believed God would
nofwant peaple to freat each otherin such a
way.

The British Government was fired of sending
British troops all the way to the Caribbean to
crush slave revolts. Many British soldiers died
of disease in the hot, damp climate in
Jomaica to protect white plantation owners.
Some people realised that the slave trade was
cruel and led to the deaths of thousands of
Africans in terrible conditions on the Middle
Passage. They believed it was unchristian fo
tfreat other human beings in this way

Many freed slaves had fought with the British
army and navy in the wars against the French
in the 1800s. Their fighting skills won admiration
from white soldiers. There was pressure on the
Government to end slavery and gain the
loyalty of African Americans in the Caribbean.




Y8 - Knowledge Organiser - Indusirial Revolution - How did industrialisation change the way people worked?

What do | need to know?

How did life change between 1750 and 1900%

What was the domestic and factory system?

What new inventions were there and how did they change the fextile industrye
What was it like to work in o factory in the 19th century®

How did life change between 1750 and 19007

What was life like in the 175057

11 Million pecple in Britain.

Farming was the most common job, even people with other jobs still farmed their food.
The only way to travel is by foot , horse or boat. The journey from Edinburgh to London
would fake 12 days.

At this time there were lofs of killer diseases, such as smallpox. Operations were painful
because patients were awake when they were done.

No one knew dirt made them ill. Mony women died during childbirth, and many children
died before their first bithday.

What new inventions were there?

What was life like in the 190057

40 million people in Britain.

Many people worked in factories which relied on steam power.

At this time there were railways all over Britian. It took 9 hours fo getf from London to
Edinburgh on the frain.

Doctors learnt about the causes of infection and used anaesthetics to put people to
sleep during operations.

People found out about germs and what made them ill. Water was piped into town;
waste was piped away. Streets were cleaned up.

Key vocabulary

* Flying shuttle - Invented by John Kay, in Bumley, Lancashire, in 1733. Allows for

quicker weaving and wider cloth. This meant fewer weavers were

needed. It could be hand powered and used at haome.

Spinning jenny - Made by James Hargreaves, in Blackburmn,

Lancashire, in 1747, Allowed spinners fo weave 8 threads at once, it made
fine but weak thread. It allowed pecple to spin af hame.

Water frame - Made by Richard Arkwright, in Preston, Lancashire,

in 1794. This was powered by a water wheel so could not be used at hame.
Created strong thick yam. 1 factory produced 40 times more yarn than o
family at home.

Spinning mule - Made by Samuel Compton, in Bolton, Lancashire, in 1779,
Created a finer and stronger thread than what the hand spinners could
make. If did not require a worker fo power i,

Fower loom - Made by Edmund Cartwright in Leicestershire, in 1785. The Power
Loom meant that weavers could keep vp with the spinners. Due of ifs size, if
had to be used in factories, meaning thousands of handloom weavers lost
their jobs.

Domestic

What was it like to work in a factery in the 19th Century?

When cloth and clothing

system was produced in peoples’
homes.

Factory When machines

system were invented, and the producti

on moved into larger buildings-
mills or faciories.
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* long working hours - Normal shifts were usually 12-14 hours a day, with exira fime required during busy periods.

+  Low wages - Typical wage for male workers was about 15 shillings [75p) a week, but women and children were paid much
less, with women eaming seven shillings (35p) and children three shillings (15p).

*  Cruel discipline - There was frequent strapping (hitting with a leather sfrap). hanging iron weights arcund children’s necks,
hanging them from the roof in baskets and nailing children's ears to the table.

»  Fierce systems of fines - These were imposed for talking or whistling or having a little dirt on a machine.

+  Accidents - Forcing children to crawl inte dongerous, unguarded machinery led to many accidents. Up to 40 per cent of
accident cases at Manchester Infirmary in 1833 were factory accidents.




Y8 - Knowledge Organiser - Industrial Revolution - Who had the biggest impact on public health during the 19th century?

What do | need to know?

» How important was Florence Nightingale's work forimprovements in hospital care?

Why were tfowns and cities so filthye
How important was John Snow’s discovery about the cause of cholera?

Who had the biggest impact on improving public health?

Why were towns so filthy?

John Snow and Chelera

Back-to-back housing - Landlords and builders took advantage of the lack of
building regulations. They packed as many houses as they could onto small
plots of land. Some better-off working-class pecple rented ‘through' houses,
which had their own outside spaces. Many people lived in shared
accommodation with 8/9 people per room.

Waste - T here would be privies connected to cesspits [big underground pools
of waste] and sewers which whole streets shared. The sewer systems would
be old and would leak into the water supply making people ill.

Food - It was difficult o get fresh fruit and vegetables and diets usually
consisted of bread and potatoes. There was little food regulation therefore
sellers added things to products fo make them go further, such as adding chalk
to milk. This caused malnutrition and illness.

Water - All water was unsafe throughout the 19th century. This was because the
water companies took water from the rivers, which were contaminated by
human waste and pollution from industry. Even rainwater might be unsafe as it
had fallen through the smoke from factories.

Who is he? John Snow was a prominent 1¥th-century Doctor and considered one of the
founding figures in researching epidemics. His work during the cholera outbreak in London
in 1854 changed our understanding of disease transmission and had a lasfing impact on
public health.

Why is he important? Cholera Invesfigation [1854): John Snow gained recognition for his
investigation during the Broad Streef cholera outbreak in London. He created a map of the
affected area, in Sohao, London, marking the locations of cholera cases. This helped him
identity a contaminated public water pump on Broad Street as the likely source of the
outbreak.

Did he have a big impact?

Florence Nightingale and hospital improvements

Key vocabulary

Disease Anillness or sickness that affects a person.

Public The health of the population as a whaole.

health

Epidemic An outbreak of disease that affects people of the same area.
Hygine Caonditions or practices used to mainiain health and prevent

disease.,

Who is she? Florence Nightingale, bom in 1820, is celebrated as the founder of modern
nursing and a pioneer in healthcare reform. Her dedication to patient care, innovative
statistical methods, and advocacy for sanitation transformed nursing practices and
significantly impacted public health,

Why is she important? She goined prominence during the Crimean War, where she and a
team of nurses cared for wounded soldiers. Her emphasis on hygiene, cleanliness, and
proper nufrition reduced the death rate among soldiers. She then established the first
nursing school at $t Thomas' Hospital in London in 1860. She wrote about nursing education
and standards, making nursing a respected and skilled profession.

Did she have a big impact?
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Error intervals- rounding according to significant figures

Depending on the size of the number, the rounding will change when rounding to significant figures.

Rounding like this keepsz all numbers rounded to the same degree of accuracy relative to the size of the

number.

Example 3- A number, g, is 15,000 when rounded to 2

significant figures, write down the error interval,

Begin by finding the place valuz of the 2™ significant
figure, in this caze, this is 5000. This means we ars

rounding to 2 sig figs = rounding to nearest thousand.

]

14 500 15 500
14,000 15000 16,000

The midpoint between 14,000 and 15,000 is
14500. This is the lower bound.

The midpoint between 15,000 and 16,000 is
15, 500. This the upper bound.

The answer is 14,500 < g < 15500,

Example 4- & number, x, i 0.07 when reunded to 1
significant figure. Write down the error interval,

B=gzin by finding the placs valus of the 1* significant
figure, in this caze, this is 0.07. This means we are

rounding to 1 sig fig =rounding to nearest hundredth.

0.065 0.075

0.06 Qo7 0.08

The midpoint between 0.0& and 0.07 is 0.085.
This is the lower bound.

The midpoint between 0.07 and 0,08 is 0.075.
This the upper bound.

The answer is A065 < x <075,

Error intervals- truncation

Be careful when reading error interval questions as truncating is not rounding like place value. The

nurnber has been “chopped”, which means the value given 15 THE LOWER BOUMD. It commaonly applies

to decimals.

Example 5- State the error interval of 4.5 when it has been truncated to 1 decimal place.

Begin by finding the tenth, in this case, greater than 4.5. (Note: 1dp = tenths column.) This is the upper

bound.

Remember: the value cannot equal 4.6!
La

-

4.5

The answer is 4.5 < n <46
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Online clip
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Example Z -Expand (x — 3}(x + &)

aA N\

(x—3)(x+6)

\ S

This gives x* + 6x — 3x — 18

Example 3 -Expand (2x — 3} (x — 5]

aA N\

(2x—3)(x—5)

\
This gives 2x% — 10x — 3x + 15

This simplifies to This simplifies to

x> +3x—18 2x® —13x + 15

ENEEE I NI NN E RN RN NN E RN EEEEEE R l.IIIIIlIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIII

Online clips
QO76, MB2T
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Two- step eguations

To solve a one-step eguation, you nesd to do the inverse operation.

To solve a two-step equation ar ineguality we need to complets 2 inverse calculations in a specific
arder.

+ ) . .
Bx + 3 The inverse of adding 3 is subtracting 3

The inverse of multiplying & is dividing by &

The inverse of multiplying 4 is dividing by 7

32 U
30
v +6
5
13
U The inverse of subtracting 3 is adding 3
+3

16
4 U

x—
= 4 The inverse of dividing by 3 is multiphing by 3

- 2

The inverse of subtracting 5 is adding 5

U;

==1
k3 H_m

Online clips

M175, M428, M707, Mb34, Me47, M855, M401
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KS3 Cellular Respiration
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F
/ Respiration is a series of chemical reactions, in cells, that breaks down glucose to provide energy and form new molecules. \ 7
I There are two types: | |
I+ Aerobic respiration: breaks down glucose with oxygen to release energy and producing carbon dioxide and water. It occurs N
| in the mitochondria. The word equation for this reaction is: '
I glucose + oxygen =2 carbon dioxide + water N
I Anaerobic respiration in animals breaks down glucose without oxygen to release energy, producing lactic acid. It occurs in I
: the cytoplasm. The word equation for this reaction is: I
: glucose =2 lactic acid N
: « Anaerobic respiration in plants and microorganisms (known as fermentation): breaks down glucose without oxygen to 1
| release energy, producing ethanol and carbon dioxide. Yeast and other microorganisms expire anaerobically ||
\ (fermentation). The word equation for this reaction is: 11
\ glucose = ethanol + carbon dioxide 7 |
h IHE =N N I I I I I I S S B O O B B B B S B B B B B B B S B B S S S S S S S S S S S I
- =T === Tt s s s s s EEEEEEEEEEE ST =~ |
7+ Aerobic means with oxygen, anaerobic is without oxygen. \ :
!« Most living things use aerobic respiration but switch to anaerobic respiration, which provides less energy, when oxygenis \ :
: unavailable. | :
*  Aerobic occurs in the mitochondria of the cell, anaerobic occurs in the cytoplasm of the cell. |
| [ P I
| * Inanimals, the glucose in respiration comes from the food we eat (glucose has a store of chemical energy). I l
| * Inanimals, the oxygen in aerobic respiration comes from the atmosphere around us that we breathe in. I I
| * Substances that arent needed in the body, such as the carbon dioxide produced in aerobic respiration, are breathed out. I I
| * Theenergy released by respiration is used for all living processes, such as movement, respiration, sensitivity, growth, | |
I reproduction, excretion and nutrition. | |
| * Plants produce their own glucose from photosynthesis that they then use for respiration. Plants are called ‘producers’ for I |
| this reason. I I
| +* Allfood chains start with plants (producers) and therefore we rely on them for us to be able to carry out essential life | I
l processes. I \
\ * The ethanol and carbon dioxide produced in anaerobic respiration in plants and microorganism (fermentation) is used ;
N\ for brewing and baking. P
H e I O O S S I S DS DS BEE BEE BN DEE DI DI BEE DEE BEE BEE DEE BEE IS DD BEE DD DD DI BEE DD BEE DEE DS BEE BEE BEE BEE B BEE B . #

72

g W= Em Em oEm Em oEm

o

e o e e o o o =

o O O O O O O o O O O O O O O O O O

Keywords

-

Respiration/Respire

Aerobic respiration

Anaerobic
respiration
Mitochondria
Cytoplasm
Energy
Molecules
Glucose
Oxygen
Atmosphere
Fermentation
Microorganism
Asthma
Smoking
Nicotine
Tobacco

Gas exchange
Drug
Recreational
Stimulant
Depressant

\

o



KS3 Cellular Respiration

I|.,.l------l------l----l-------------l-lu... - O R O S S S O

Smoking: cigarette smoke contains over 4,000 chemicals, including approximately 1 [ Asthma is a common non-infectious

\
| I
| 69 known cancer-causing chemicals as well as over 400 other poisons. I | disease that can cause breathing |
| * Smoking isvery harmful to health and causes or can lead to many types of | | difficulties. During an asthma attack, |
| cancer including — lung, mouth, throat, voice box, bladder, bowel, cervix, I I the breathing (bronchial) tubes narrow. 1
| kidney, liver, stomach, leukaemia, heart disease, blood pressure problems, : N
I stroke, fertility problems, serious breathing conditions and weak bones. | f"’ __________________________
I+ The harmful substances in cigarette smoke include tar, smoke, nicotine and | | Symptoms of asthma include wheezing and shortness of breath and
I\ carbon monoxide. J | can be treated using medication taken using an inhaler.
S “ | Risk factors for asthma include air pollution, smoking, low birth
e I weight, having an allergy, and family history.
’
¢ * Tarand smoke causes cancer of the lungs, mouth and throat. They coat % \ ~ e e e e e e e e e e e o
/ the inside of the lungs, including the alveoli, causing coughing. They -
I o - |-
: damage thelalveclull, making it more difficult fo.r gas exchange to.happen, | | Drugs can be both legal and illegal.
: W.hlch- nelgatwe!'g |.mplacts respiration as there is less Dx',..fgen available. I |« Medicines are drugs that people take when they are ill
. INICDtInE is addictive it causes a smoker to want more cigarettes. It | : «  People consume other drugs recreationally (for fun), including
| increases tEe heart rare ir?dhbloof p;essu}:e. It ;r?akes blood vessels | | caffeine, nicotine and alcohol.
I harrower than normal which can lead to ea!"t ISEase. _ | \ * Recreational drugs can be classified as depressants or stimulants.
| * Carbon monoxide takes the place of oxygen in red blood cells. This e
| reduces the amount of oxygen that the blood can carry, again, negatively | = = ===
| impacts respiration. : / Drugs can be categorized as depressants or stimulants. Depressants
I« Itisillegal to smoke inside public buildings, in the workplace, on public slow down thinking and reaction times. Stimulants make you feel
|
I transport such as buses, trains and planes, and in a car while carrying | I more alert and can give you quicker thinking and reaction times.
: somebody aged 18 or under. I I+ Alcoholisa legal depressant, but long-term alcohol use can
P An electronic, or E-cigarette is a battery-operated device that emits a | : damage the brain and liver,
I vapour to inhale, which usually contains nicotine. The aim is to provide the | P Caffeine is a legal stimulant present in some foods and drinks.
| sensation of inhaling tobacco smoke, without the smoke. When the user I | * Cocaine and ecstasy are examples of illegal stimulants used as
\ inhales, a small amount of liquid is heated until it becomes a vapour. ! I recreational drugs.
\\ People who use E-cigarettes are therefore not smoking but “Vaping”. ,’ \ Substance abuse can cause physical and mental health issues.
~ -
N e e e e e e e e e e e e e e e e e € e e e il il
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